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| Semester B.Com. Examination, Nov./Dec. 2017
(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE
1.6.b : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction : Answers shouldcompletely be either in English or Kannada.

SECTION-A

.Answerany 5 (five) sub-questions. Each sub-question carries 2 marks. (5%2=10)

1. a) What are rational numbers ?

b) TheLCM and HCF of two numbeLrﬁare 180 and 3 respectively. If one number
is 27, find the other.

c) Solveforx:x+ 3 + x =5. e
d) Find the 10" term of a sequence 10, 12, 14 .*~
e) What is a square matrix ? Give an example.

2 @5l i oaE
f) Ifzﬂ\:[6 - B]B"L 4\2} find A + B.

g) How much interest will be earned on 7 2,000/- @ 8.5% simple interest in
2 years. -

SECTION-B
Answerany 3 (three) questions. Each question carries 6 (six) marks. (3x6=18)
2. Solve by the method of elimination:
o9X + 6y =3
2X -5y =16

L™

3. Find the sum of the series 99 + 101 +103 ..... to 25 terms.

4. What would be the amount of Compound Interest (Cl) on 25,000/- at 5% rate of
interest p.a. for 3 years ?

PO,




SN - 455 = LT

Bieiq f

5. Showthat| 2 1 3| =-40.
=Hi—=1+2

6. Find:

i) TD, ii) BD, iii) BG on a bill of 10,450 due 3 months hence @ 5% p.a.

SECTION-C
Answer any 3 (three) questions. Each question carries 14 marks. (3x14=42)
7. a) Divide ¥ 1,600 between A, B and C, so that B may have ¥ 100 more than A
and C ¥ 200 more than B.

b) The weekly wages of 30 persons consisting men and women amount to
73,800. Each man receives 7 140 and each woman ¥ 100 as wages per week.
Find the number of men and women.

8. a) Solve by formula method
x2—3x =10.

b) The sum of 3 terms in G.P. is 14 and their product is 64. Find them.
2 4 4

9. a) IfA= j i ‘2‘ prove that A2— 8A — 207 =0.

b) Solve by Crammer’s rule
3X-y=6
2x—15=-3y.

10. a) If 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days, in
how many days can 20 pumps working 9 hours a day lift 3,000 gallons of water ?

b) Abill for 7 14,600 drawn at 3 months was discounted on November 1 1% for 14,544.
If the role of simple interest is 4% p.a., on what date was the bill drawn ?

11. a) Find the amount of annuity if payment of 2300 is made at the end of each
year for 4 years at the rate of 10% p.a. compounded yearly.
b) Find the co-factors of matrix of A.
EE2: 3

A=312.
I
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OERRYTITETH DT YUTBINOT YUZ0R. T3 QDT INR QST BTN, (5x2=10)

1. a) yorew BosENw QOTTEI ?

b) TR Bo3 e ©.7. €2, T 04w, . 1 FwoeN 180 ) 3 BNT. [BY 8o
2053, 27 5333 Bo3R0wd BesF 0B FOrIEROD.

c) xa’é{w@?@:x+3+x=5.
d) 10,12, 14 ..... 36803 108 BERI TOBELROD.
e) SnF =P QOTBERD P NVTOROH &R,

o 4.8 12 3
A [6 - 8}B=[1 4 2} =T33 A + BO3oR) 30w 3C00.

g) 72,0000 30ee38.5% T ATHRCI0E 2 BRENGD, ad% w%oa‘odoq NYRWBOTO ?

NN - W
QINR)TIETR 3 @%ﬁ@ﬁ USO8, B33 TBINL 6 €30BNED. (3%6=18)
2. 3Po30R 5&59&0330&5 WA
5x + 6y =3
2x — 5y =16

3. 99+ 101 +103..... S0 BB 25 TENS HeFRe FoRBRD.

4. % 5,000 B30 BRFE5% S WROD BT, 3 BRENTY, WD 2380ROIR TOBRBCUD.

o NN W
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N ow o~

5. =—40 Q0T BREOA.

1

6. 7 10,450 33(R1200) SonE BooRes) oees T3 5% LRI0E 33 SINTHNESY
BOT BOWD.
i) TD ii) BD iii) BG




SN -455 4 T

QTN - 2
O TTIN IR @gﬁ@ﬁ SUZOR. B @%ﬁ 14 2030, (3x14=42)

7. a) T 1,600 rf@;!ab A, B 2389 C nior 33 39008 5023,
‘B'rt ‘A’ hoz 100 T @mﬁ =082 ‘C’' it ‘B’ hog 200 % TN DecseIesd.

b) Morach o3y éomd:n’%fa%ﬁﬁfaoué 30 %TT 20830 TTE 3ROIN T 3,800 BN,
T Notzd uom’o mdé 140 7 r{@émo VR T Fonad wotd mdé 100 3 ﬁ@e‘i}
ﬁ:a@w'aﬁ slectoto] ﬁozéfqd 308 ﬁoﬁa’d NO&j) n’@é;ﬁg BOTBIGOBOAD.
8. a) m@gda’i WP VR
- 3x =10.

b) Rorsgs 3 eR0d Suedh BEne B2y 14 303) eyns 'bsa@aud 64 333 ¢3 wd‘fd&b
BOBOIELEBOND.

2 4 4

9. a) A= i i z STSA2— 8A — 201 = 0 208> 201

b) BRI ROLROBR 29 1B,
3BX—-y=6
2X—15=-3y
10. a) 12 Zogrisd OF7 Rowdnded 20 AINES 2,800 MR, OF° DETRTeT® BRBTS, 20 Tow* e
o8, 9 ﬁo&ﬁh’@#oé 3,000 oo @edab Ssiesy) a&’m@w DT, Cbc‘d'ﬁ’%#o Wesonogss ?

b) 14,600 T NS =D (3) 8ony 5530&%0605’%1 4,544 7 noR P00 11380t
S0V CNB. ROP RO TC & T4% SBT3 &o@o&:&&;}t BT OTDOT OINTYT ?

1. a) TéTxF T38RI T 300 ¥4 SRFRY 20 TRRTS 3¢, 103 WO &G
DRFBR d%fqoo&@eaﬁfudﬁ (compounded) ATV DRI RRE=) éocéa&@o@o@

b) A=

- W U,
N = N
- N W

S0, BRETYTO” BT FOI) TEROD.




